Spellings: Reading: Grammar: Punctuation of Sentences
Learn these words off by heart | | Sign in to you A sentence must make sense. It begins with a capital letter and often
and use them in a sentence. Welearn account - go || ends with a full stop. Here is a short paragraph with missing sentences.
1. although to purple mash - Copy the paragraph out, putting in the missing capital letters and full
2. thought serial mash- stops:
3. through emeralds- 'Queen
4 various Martha'. Dan went with his mum to the zoo the zoo was in Blackpool they got
5. weight there early in the morning Dan and his mum went to see the lions next
6. woman Read each chapter of || they saw three elephants at twelve o'clock there was a parrot show
7. women '‘Queen Martha’ and they did lots of tricks.
complete the tasks
(These were the last words in the Year next to each Chap'l'er‘_
3/4 Common Exception list)

Addition: Subtraction: Division:
1) 321 + 146 = 1) 458 - 223 1) 6x12= 1) 99 = 11 =
2) 654 + 231 = 2) 784 - 351 = 2) 6 x 40 = 2)120+ 10 =
3)879+113 = 3) 265-73 = 3)60 x5 = 3)428 -+ 2 =
4) 632 + 218 = 4) 323 -48 = 4)12 x 11 = 4)270+3 =
5) 234 + 287 = 5) 825 - 429 = 5) 25 x 3 = 5) 600 + 10 =
6) 825 + 275 = 6) 729 - 259 = 6) 46 x 4 = 6)63+7 =
Challenge: Challenge: : Challenge:
Three children have 720 marbles A lorry driver has a 562 journey. He Cinema tickets are £12 each. 6 fg;:. aiy
between them. Jay has 126 and Abi stops for a break half way. How people go to the cinema. How much g
has 374. How many does Ray have? many more miles does he have to will they pay altogether? 3 judges award 27 marks overall.
travel? They each give the same score.
What score did each judge give?




Spellings:

Learn these words off by heart

and use them in a sentence.
1. although
Ask an adult
2' ThOUghT to fest you.
3. through
4. various | Dovour
. sentences
5. weight make sense?
6. woman
7. women

(These were the last words in the Year
3/4 Common Exception list)

Reading:
Go to purple mash -
serial mash-
emeralds- 'Queen
Martha'.

Read each chapter of
'‘Queen Martha’ and
complete the tasks
next to each chapter.

Grammar: Punctuation of Sentences

A sentence must make sense. It begins with a capital letter and often
ends with a full stop. Here is a short paragraph with missing sentences.
Copy the paragraph out, putting in the missing capital letters and full
stops:

Dan went with his mum fo the zoo. The zoo was in Blackpool. They got
there early in the morning. Dan and his mum went to see the lions.
Next they saw three elephants. At twelve o'clock there was a parrot
show. They did lots of tricks.

Addition:
1) 321+ 146 = 467
2) 654 + 231 = 885
3) 879 + 113 =992
4) 632 + 218 = 850
5) 234 + 287 = 521
6) 825 + 175 = 1000

Challenge:

Three children have 720 marbles
between them. Jay has 126 and Abi
has 374. How many does Ray have?
220

Subtraction:
1) 458 - 223 =235
2) 784 - 351 = 433
3) 265-73 =192
4) 323 -48=275
5) 825 - 429 = 396
6) 729 - 259 = 470

Challenge:
A lorry driver has a 562 journey. He

stops for a break half way. How
many more miles does he have to
travel? 281

1) 6x12=72
2) 6 x 40 = 240
3) 60 x 5 = 300
4)12 x 11= 132
5)25 x 3= 75
6) 46 x 4 = 184

Cinema tickets are £12 each. 6
people go to the cinema. How much
will they pay altogether? 72

Division:
1) 99+11=9
2)120+10=12
3)428 - 2=214
4)270+3 =90
5) 600 + 10 = 60
6)63+7 =9

Challenge:

3 judges award 27 marks overall.
They each give the same score.
What score did each judge give? 9




